I\

..................

LV TRVET S VETR

somalall 2 M) 2017 xS ;g
Ll 9 1 (5 giasal)

"S5 sl " su02 e Adu

e L i L B

B <K <K <K K <K K <K K K K K K <K K K =

O

- <Kt =K <K =K =K =4

“¥#

%-ﬁ-ﬂ‘-‘lﬂhfh*#-‘ﬁ‘- B A S 1 SR

V2 X2 =.. V3xV3= .. VI x\m= .. Va X a =

(2 VS)(VS | 3)— ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

R T ) L U ——

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

%%#%%ﬂ‘ﬂ-'%ﬂ*%#%%%%ﬂ‘%fh‘-fﬂ*%%%ﬂ-%%#%%%#ﬂ-%%%%%%#%%%%#%%%#-#%%-%%ﬁg

B

B

B e e e e

-
Librairie Devoir.TN
T o W GRSV RV RV SR ERRE =L ¥y V. | -42&-33—@1—-99- 06:27-6

¢
¢
:
¥


https://www.devoir.tn

T
L

e i e i e e e i o s e i i i e i st i 4
ii

(V3= 1) X V3= 2V3 (34 3V3) = oo :
:

:

¢

:

:

i’

LAl C jlad) Ja) o plda ) dSé (3 i

:

5 VD ettt p R e R ;
:

:

127+ 6V = oo VT L l
:

:

2V2 = 4B = 6aV5 — 15 = oo :
i‘

(2=V2)(B4V3) = 6= 2V3 = oo :
:

.................................................................................................................................................. :
:

:

i ) B R — i
:

A=(1-V2)2-V2)=BB-1) : juaz| E=EE

B=(2-3)"2++3)-2(J2 +4/3)
C=(1+/3)2-3)-(1++2)2-+2)

LW Ll el ge sl ) SIS 46 0 13 ¢
a=3/2+i52 § p=23-4
b g=2—42 1 d:\/g—\/ﬁ

Librairie DevVoir. TN
i b b~ o oo o e b i bbb - 53404 -42-33 {899 06:27-6

B e e e e e e R e e o



https://www.devoir.tn



